

APPROXIMATION PROPERTIES OF A SEQUENCE
OF LINEAR POSITIVE OPERATORS

Ilija Lazarević and Alexandru Lupaş

(Communicated January 31, 1975)

This paper is dedicated to the memory of our Professor T. Popovicu

1. Introduction.

An example of a sequence of linear polynomial operators, with „good“ approximation properties, is given by the Bernstein operators [1, 5, 10, 11 13]. These properties, for instance the convexity preservation, enable us to use the Bernstein operators in various fields of mathematics as for example Summability, Statistics [14].

The aim of this note is to introduce a sequence of linear polynomial operators and at the same time to study their properties which are similar to those of Bernstein operators.

For a fixed number ε on the interval $(0, \frac{1}{2})$ let us write

$$K_1 := [\varepsilon, 1 - \varepsilon] \subset K, \quad K := [0, 1],$$

$$\mathbf{N}_\varepsilon := \left\{ \left\lceil \frac{1}{2\varepsilon} \right\rceil, \left\lceil \frac{1}{2\varepsilon} \right\rceil + 1, \left\lceil \frac{1}{2\varepsilon} \right\rceil + 2, \dots \right\},$$

$$\|\cdot\|_1 := \max_{K_1} |\cdot|, \quad \|\cdot\| := \max_K |\cdot|.$$

We define the sequence of operators $L_n: C(K) \rightarrow C(K_1)$, $n \in \mathbf{N}_\varepsilon$, by

$$(1) \quad L_n f := \sum_{k=0}^n l_{k,n} \int_0^1 \left[\frac{t}{n+1}, \frac{t+1}{n+1}, \dots, \frac{t+k}{n+1}; f \right] dt$$

where

$$l_{k,n}(x) := \frac{n!}{n^k (n-k)!} \left(x - \frac{1}{2n+2} \right)^k, \quad n \in \mathbf{N}_\varepsilon, \quad k=0, 1, \dots, n$$

and the symbol $[x_0, x_1, \dots, x_m; \cdot]$ denotes the divided difference at the prescribed knots x_i , $i=0, \dots, m$.

If

$$P_{n,k}(x) := \frac{(n+1)^{n+1}}{n^n} \binom{n}{k} \left(x - \frac{1}{2n+2} \right)^k \left(\frac{2n+1}{2n+2} - x \right)^{n-k},$$

$$n \in \mathbf{N}_\varepsilon, \quad k=0, 1, \dots, n,$$

then we prove

Theorem 1. *The linear operator $L_n: C(K) \rightarrow C(K_1)$ (see (1)) may be defined by*

$$(2) \quad L_n f = \sum_{k=0}^n P_{n,k} \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f(t) dt = \int_0^1 P_{n, [(n+1)t]}(x) f(t) dt.$$

Therefore $L_n, n \geq N_\varepsilon$ are linear positive operators.

Proof. From (2) one proves by induction that for derivation of L_n we have

$$(3) \quad (L_n f)^{(j)}(x) = \frac{(n+1)^{n-j+1} n! j!}{n^n (n-j)!} \sum_{k=0}^{n-j} C_{k,j}(x) \cdot \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} \left[t, t + \frac{1}{n+1}, \dots, t + \frac{j}{n+1}; f \right] dt$$

where

$$C_{k,j}(x) := \binom{n-j}{k} \left(x - \frac{1}{2n+2} \right)^k \left(\frac{2n+1}{2n+2} - x \right)^{n-j-k}.$$

Indeed,

$$(L_n f)'(x) = \frac{n^{n+1}}{n^n} \left\{ \sum_{k=1}^n k \binom{n}{k} \left(x - \frac{1}{2n+2} \right)^{k-1} \left(\frac{2n+1}{2n+2} - x \right)^{n-k} \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f(t) dt - \sum_{k=0}^{n-1} (n-k) \binom{n}{k} \left(x - \frac{1}{2n+2} \right)^k \left(\frac{2n+1}{2n+2} - x \right)^{n-1-k} \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f(t) dt \right\}$$

and

$$\begin{aligned} & \sum_{k=1}^n k \binom{n}{k} \left(x - \frac{1}{2n+2} \right)^{k-1} \left(\frac{2n+1}{2n+2} - x \right)^{n-k} \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f(t) dt = \\ & = n \sum_{k=0}^{n-1} \binom{n-1}{k} \left(x - \frac{1}{2n+2} \right)^k \left(\frac{2n+1}{2n+2} - x \right)^{n-1-k} \int_{\frac{k+1}{n+1}}^{\frac{k+2}{n+1}} f(t) dt = \\ & = n \sum_{k=0}^{n-1} \binom{n-1}{k} \left(x - \frac{1}{2n+2} \right)^k \left(\frac{2n+1}{2n+2} - x \right)^{n-1-k} \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f\left(t + \frac{1}{n+1}\right) dt, \end{aligned}$$

$$\begin{aligned} & \sum_{k=0}^{n-1} (n-k) \binom{n}{k} \left(x - \frac{1}{2n+2}\right)^k \left(\frac{2n+1}{2n+2} - x\right)^{n-1-k} \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f(t) dt = \\ & = n \sum_{k=0}^{n-1} \binom{n-1}{k} \left(x - \frac{1}{2n+2}\right)^k \left(\frac{2n+1}{2n+2} - x\right)^{n-1-k} \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f(t) dt, \end{aligned}$$

because $(n-k) = n \binom{n-1}{k}$. It follows

$$(L_n f)'(x) = \frac{(n+1)^{n+1}}{n^{n-1}} \sum_{k=0}^{n-1} C_{k,1}(x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} \left[t, t + \frac{1}{n+1}; f \right] dt$$

and formula (3) for $j=1$ is valid. Let us assume that (3) holds true for $j=p+1$. Then we may write

$$(L_n f)^{(p+2)}(x) = \frac{(n+1)^{n-p} n! (p+1)!}{n^n (n-p-1)!} (X - Y)$$

where

$$\begin{aligned} X := & \sum_{k=1}^{n-p-1} k \binom{n-p-1}{k} \left(x - \frac{1}{2n+2}\right)^{k-1} \left(\frac{2n+1}{2n+2} - x\right)^{n-p-1-k} \\ & \cdot \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} \left[t, t + \frac{1}{n+1}, \dots, t + \frac{p+1}{n+1}; f \right] dt \end{aligned}$$

and

$$\begin{aligned} Y := & \sum_{k=0}^{n-p-2} (n-p-1-k) \binom{n-p-1}{k} \left(x - \frac{1}{2n+2}\right)^k \left(\frac{2n+1}{2n+2} - x\right)^{n-p-2-k} \\ & \cdot \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} \left[t, t + \frac{1}{n+1}, \dots, t + \frac{p+1}{n+1}; f \right] dt. \end{aligned}$$

Further, since

$$\int_{\frac{k+1}{n+1}}^{\frac{k+2}{n+1}} \left[t, t + \frac{1}{n+1}, \dots, t + \frac{p+1}{n+1}; f \right] dt =$$

$$= \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} \left[t, t + \frac{1}{n+1}, \dots, t + \frac{p+1}{n+1}; f\left(\cdot + \frac{1}{n+1}\right) \right] dt$$

and

$$(n-p-1-k) \binom{n-p-1}{k} = (n-p-1) \binom{n-p-2}{k},$$

we may write

$$X = (n-p-1) \sum_{k=0}^{n-p-2} C_{k,p+2}(x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} \left[t, t + \frac{1}{n+1}, \dots, t + \frac{p+1}{n+1}; f\left(\cdot + \frac{1}{n+1}\right) \right] dt$$

and

$$Y = (n-p-1) \sum_{k=0}^{n-p-2} C_{k,p+2}(x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} \left[t, t + \frac{1}{n+1}, \dots, t + \frac{p+1}{n+1}; f \right] dt.$$

Thus we have

$$(L_n f)^{(p+2)}(x) = \frac{(n+1)^{n-p} n! (p+1)!}{n^n (n-p-1)!} (n-p-1) \cdot$$

$$\sum_{k=0}^{n-p-2} C_{k,p+2}(x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} \left[t, t + \frac{1}{n+1}, \dots, t + \frac{p+1}{n+1}; f\left(\cdot + \frac{1}{n+1}\right) - f \right] dt$$

i. e.,

$$(L_n f)^{(p+2)}(x) = \frac{(n+1)^{n-p-1} n! (p+2)!}{n^n (n-p-2)!} \cdot$$

$$(4) \quad \sum_{k=0}^{n-p-2} C_{k,p+2}(x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} \left[t, t + \frac{1}{n+1}, \dots, t + \frac{p+2}{n+1}; f \right] dt,$$

because

$$\begin{aligned} & \left[t, t + \frac{1}{n+1}, \dots, t + \frac{p+1}{n+1}; f\left(\cdot + \frac{1}{n+1}\right) - f \right] = \\ & = \left[t, t + \frac{1}{n+1}, \dots, t + \frac{p+2}{n+1}; f \right] - \left[t, t + \frac{1}{n+1}, \dots, t + \frac{p+1}{n+1}; f \right] = \\ & = \frac{n+1}{p+2} \left[t, t + \frac{1}{n+1}, \dots, t + \frac{p+2}{n+1}; f \right]. \end{aligned}$$

In this manner the formula (3) is valid. In other words with substitution $t \rightarrow \frac{t+k}{n+1}$ we have

$$(L_n f)^{(p+2)}(x) = \frac{(n+1)^{n-p-2} n! (p+2)!}{n^n (n-p-2)!} \cdot \sum_{k=0}^{n-p-2} C_{k,p+2}(x) \int_0^1 \left[\frac{t+k}{n+1}, \frac{t+k+1}{n+1}, \dots, \frac{t+k+p+2}{n+1}; f \right] dt.$$

Now, because

$$(L_n f)^{(j)} \left(\frac{1}{2n+2} \right) = \frac{n! j!}{n^j (n-j)!} \int_0^1 \left[\frac{t}{n+1}, \frac{t+1}{n+1}, \dots, \frac{t+j}{n+1}; f \right] dt$$

on account of Taylor expansion (1) follows. Further, $x \in K_1$ and $n \geq \left[\frac{1}{2\varepsilon} \right]$ imply

$$x \in \left[\frac{1}{2n+2}, 1 - \frac{1}{2n+2} \right]$$

and

$$P_{r,k} \geq 0 \text{ on } K_1,$$

this is L_n , $n \in \mathbf{N}$ are positive operators. \square

2. The convergence properties.

We prove the following

Lemma. If $e_j(y) := y^j$, $j = 0, 1, \dots$, then we have

$$L_n e_0 = e_0,$$

$$L_n e_1 = e_1,$$

$$L_n e_2 = \frac{n-1}{n} e_2 + \frac{1}{n} e_1 - \frac{5n+3}{12n(n+1)^2} e_0,$$

$$L_n e_3 = \frac{(n-1)(n-2)}{n^2} e_3 + \frac{3(n-1)}{n^2} e_2 - \frac{n^2-9n-6}{4n^2(n+1)^2} e_1 - \frac{2n+1}{4n^2(n+1)^2} e_0,$$

$$(5) \quad L_n e_4 = \frac{(n-1)(n-2)(n-3)}{n^3} e_4 + \frac{6(n-1)(n-2)}{n^3} e_3 + \frac{3(n-1)(n+3)(3n+2)}{2n^3(n+1)^2} e_2 - \frac{7n^2-7n-6}{2n^3(n+1)^2} e_1 + \frac{n^3-90n^2-105n-30}{80n^3(n+1)^4} e_0.$$

Proof. If we put

$$E_p^m := \sum_{k=0}^m k^p \binom{m}{k} a^k t^{n-k}, \quad m = 0, 1, \dots,$$

then we may write

$$\begin{aligned} E_o^m &= (a+b)^m, \\ E_p^m &= ma \sum_{k=1}^m k^{p-1} \frac{k}{m} \binom{m}{k} a^{k-1} b^{m-k} \\ &= ma \sum_{k=0}^{m-1} (k+1)^{p-1} \binom{m-1}{k} a^k b^{m-1-k} \\ &= ma \sum_{\nu=0}^{p-1} \binom{p-1}{\nu} E_\nu^{m-1}, \\ p &= 1, 2, \dots \end{aligned}$$

Setting

$$m = n, \quad a = x - \frac{1}{2n+2}, \quad b = \frac{2n+1}{2n+2} - x$$

in above formulas we may write

$$L_n e_j = \frac{(n+1)^{n-j}}{n^n (j+1)} \sum_{\nu=0}^j \binom{j+1}{\nu} E_\nu^n.$$

By using this formula we can calculate (5). \square

Theorem 2. *If $L_n C(K) \rightarrow C(K_1)$, $n \in \mathbb{N}_\varepsilon$ are defined as in (1)–(2), then for every $f \in C(K)$ we have*

$$\lim_{n \rightarrow +\infty} \|f - L_n f\|_1 = 0.$$

Proof. Let $H = \langle e_0, e_1, e_2 \rangle$ be a set of polynomials of degree two. The well-known result of T. Popoviciu [11] asserts that it is sufficient to prove the convergence at any element from H in order to prove the pointwise convergence on the whole space $C(K_1)$ of a sequence of linear positive operators to the identity operator. This theorem was extended later by P. P. Korovkin [4] to the case when $H = \langle f_0, f_1, f_2 \rangle$ where $\{f_0, f_1, f_2\}$ is a Chebyshev system. Thus our theorem is proved if we show that

$$\lim_{n \rightarrow +\infty} \|e_j - L_n e_j\|_1 = 0, \quad j = 0, 1, 2.$$

But this is immediate having in view the above lemma. \square

Another proof may be performed as follows (see [6, 7]) where the convexity role in the approximation by linear positive operators is put in evidence.

Let $f \in C^{(2)}(K)$, $m_f \leq f'' \leq M_f$
and

$$h_1(x) := f(x) - m_f \frac{x^2}{2}, \quad h_2(x) := M_f \frac{x^2}{2} - f(x).$$

Taking into account that $h_j, j=1, 2$ are convex (non-concave) on K , the following inequalities are valid [7]

$$h_j(x) \leq (L_n h_j)(x), \quad x \in K_1, \quad n \in \mathbf{N}_\varepsilon, \quad j=1, 2,$$

i. e.,

$$\frac{1}{2} m_f(L_n e_2 - e_2) \leq L_n f - f \leq \frac{1}{2} M_f(L_n e_2 - e_2).$$

Making use of (5) we get

$$\frac{1}{12(n+1)^2} \leq L_n e_2 - e_2 = \frac{x(1-x)}{n} - \frac{5n+3}{12n(n+1)^2} \leq \frac{3n+1}{12(n+1)^2}.$$

In such a way for $f \in C^{(2)}(K)$ and $n \in \mathbf{N}_\varepsilon$ we have

$$\frac{1}{24(n+1)^2} m_f \leq L_n f - f \leq \frac{1}{8(n+1)} M_f \quad \text{on } K_1.$$

In other words the sequence of operators is pointwise convergent to the identity on a dense subset. But $\|L_n\| = 1, n \in \mathbf{N}_\varepsilon$, finishes the proof. \square

Theorem 3. *If $\omega(f; \delta)$ is the modulus of continuity, then we have*

$$\|f - L_n f\|_1 < \frac{19}{16} \omega\left(f; \frac{1}{\sqrt{n+1}}\right).$$

Proof. Let $\Omega_{2m}(t, x) := (t-x)^{2m}$. According to a result of A. Lupaş and M. W. Müller [8] we may write

$$(6) \quad \|f - L_n f\|_1 \leq \inf_{m=1,2,\dots} \{1 + \delta^{-2m} \|L_n \Omega_{2m}\|_1\} \omega(f; \delta), \quad \delta > 0.$$

Let us put

$$Y_n(x) := \left(x - \frac{1}{2n+2}\right) \left(\frac{2n+1}{2n+2} - x\right), \quad x \in K_1.$$

By using the above lemma we obtain

$$\begin{aligned} (L_n \Omega_4)(x) &= \sum_{k=0}^n P_{n,k}(x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} (t-x)^4 dt \\ &= \sum_{\nu=0}^4 \binom{4}{\nu} (-1)^\nu x^{4-\nu} (L_n e_\nu)(x) \\ &= \frac{3(n-2)}{n^3} x^4 - \frac{6(n-2)}{n^3} x^3 + \frac{3(2n^3+n^2-9n-6)}{2n^3(n+1)^2} x^2 - \\ &\quad - \frac{3(n^2-3n-2)}{2n^3(n+1)^2} x + \frac{n^3-90n^2-105n-30}{80n^3(n+1)^4}, \end{aligned}$$

which may be written in the form

$$(7) \quad (L_n \Omega_4)(x) = \frac{3(n-2)}{n^3} Y_n^2(x) + \frac{3}{2n(n+1)^2} Y_n(x) + \frac{1}{80(n+1)^4}.$$

Further we have

$$\begin{aligned} \|L_n \Omega_4\|_1 &\leq \frac{3(n-2)}{n^3} \max_x Y_n^2(x) + \frac{3}{2n(n+1)^2} \max_x Y_n(x) + \frac{1}{80(n+1)^4} = \\ &= \frac{3(n-2)}{n^3} Y_n^2\left(\frac{1}{2}\right) + \frac{3}{2n(n+1)^2} Y_n\left(\frac{1}{2}\right) + \frac{1}{80(n+1)^4} \\ &= \frac{15n^2+1}{80(n+1)^4} < \frac{15(n+1)^2}{80(n+1)^4} < \frac{3}{16(n+1)^2}, \quad n=1, 2, \dots \end{aligned}$$

If in (6) we select $m=2$, $\delta = \frac{1}{\sqrt{n+1}}$, the proof is complete. \square

Theorem 4. *If $f \in C^{(1)}(K)$ and $\omega(f'; \delta)$ is the modulus of continuity of f' , then we have*

$$\|f - L_n f\|_1 \leq \frac{11}{16\sqrt{n+1}} \omega\left(f'; \frac{1}{\sqrt{n+1}}\right).$$

Proof. Setting

$$e_x^-(t) := t - x, \quad \Delta_x(t) := f(t) - f(x)$$

we observe that there is at least a point $\theta := \theta(t, x)$ such that

$$\min\{x, t\} < \theta < \max\{x, t\}$$

and

$$\Delta_x(t) = e_x(t) f'(x) + D_x(t)$$

where

$$D_x(t) := e_x(t) [f'(\theta) - f'(x)].$$

But $(L_n e_x)(x) = 0$ and for $n \in \mathbb{N}_e$ we find

$$(8) \quad |f(x) - (L_n f)(x)| \leq |(L_n \Delta_x)(x)| = |(L_n D_x)(x)| \leq (L_n |D_x|)(x).$$

Further, if we put $\lambda_x = \lambda_x(t) := \frac{|\theta(t, x) - x|}{\delta}$, $\delta > 0$, we have

$$\omega(f'; \lambda \delta) \leq \omega(f'; (1 + [\lambda] \delta)) \leq (1 + [\lambda]) \omega(f'; \delta)$$

as well as

$$|D_x(t)| = |e_x(t)| \cdot |f'(\theta) - f'(x)| \leq |e_x(t)| \omega(f'; \lambda_x \delta).$$

Using these results we conclude

$$(9) \quad (L_n |D_x|)(x) \leq \omega(f'; \delta) [(L_n |e_x|)(x) + (L_n |e_x| [\lambda_x])(x)].$$

Schwartz's inequality enables us to write

$$(L_n |e_x|)(x) \leq \sqrt{(L_n \Omega_2)(x)} \leq \sqrt{\|L_n \Omega_2\|}.$$

Now, we put

$$\chi(t) := \begin{cases} 1, & |\theta - x| \geq \delta \\ 0, & |\theta - x| < \delta \end{cases}, \quad \delta > 0.$$

Taking into account that $|\beta| \leq \beta$, $|\theta - x| < |t - x|$, we have

$$\begin{aligned} |e_x(t)| \cdot |\lambda_x(t)| &\leq |e_x(t)| (\lambda_x(t))^3 \chi(t) \leq \\ &\leq |e_x(t)| (\lambda_x(t))^3 = \delta^{-3} |t - x| \cdot |\theta - x|^3 \leq \\ &\leq \delta^{-3} (t - x)^4. \end{aligned}$$

In this way

$$|e_x(t)| \cdot |\lambda_x(t)| \leq \delta^{-3} \Omega_4(t, x).$$

Since L_n is a monotone operator, we conclude that

$$(L_n |e_x| [\lambda_x]) (x) \leq \delta^{-3} (L_n \Omega_4) (x).$$

From these inequalities and (9) becomes

$$(10) \quad \begin{aligned} (L_n |D_x|) (x) &\leq \omega(f', \delta) \{ \|L_n \Omega_2\|^{1/2} + \delta^{-3} \|L_n \Omega_4\| \} \\ &\forall x \in K_1, \quad n \in \mathbf{N}_\varepsilon, \quad \delta > 0. \end{aligned}$$

If we select $\delta := 1/\sqrt{n+1}$, according to (5), (7), (8), (10), we have

$$|f(x) - (L_n f) (x)| \leq \frac{11}{16\sqrt{n+1}} \omega\left(f'; \frac{1}{\sqrt{n+1}}\right)$$

which proves the assertion. \square

It is clear that in the proof we have not used the forms (1) or (2) of the operators, only the fact that they are linear, positive and that they preserve that the linear functions were applied. This fact was put in evidence in [8].

3. The representation of the remainder.

For x fixed on K_1 let $R_x: C(K) \rightarrow \mathbf{R}$ be the remainder defined as

$$R_{n,x}[f] := (L_n f) (x) - f(x).$$

The equalities (5) furnish

$$\begin{aligned} R_{n,x}[e_0] &= R_{n,x}[e_1] = 0, \\ R_{n,x}[e_2] &= \frac{x(1-x)}{n} - \frac{5n+3}{12n(n+1)^2}. \end{aligned}$$

In [7] it is shown that if L is a linear positive operator defined on $C(K)$ with the properties

$$1^\circ \quad L e_0 = e_0, \quad L e_1 = e_1,$$

$$2^\circ \quad f \in C(K), \quad f \geq 0 \text{ on } K, \quad f \neq 0 \text{ implies } Lf > 0 \text{ on } K_2 \subseteq K,$$

then for any continuous (strictly) convex function $f: K \rightarrow \mathbf{R}$ holds

$$f < Lf \text{ on } K_2.$$

We return to the operators L_n ; therefore

$$R_{n,x}[f] > 0 \quad \text{for } n \in \mathbf{N}_\varepsilon, \quad x \in K_1 := [\varepsilon, 1 - \varepsilon].$$

T. Popoviciu [12] has established that in these hypothesis the functional $R_{n,x}: C(K) \rightarrow \mathbf{R}$ has "a simple form", i. e., there is a constant Q and the distinct points $\alpha_{nx}, \beta_{nx}, \gamma_{nx}$ from K so that

$$R_{n,x}[f] = Q \cdot [\alpha_{nx}, \beta_{nx}, \gamma_{nx}; f],$$

Q being independent of f . For $f := e_2$ we find

$$Q = R_{n,x}[e_2].$$

In this manner we have proved

Theorem 5. *Let $f \in C(K)$ and $L_n, n \in \mathbf{N}_\varepsilon$ be defined by (1). For each $x \in K_1$ there exist the distinct points $\alpha_{nx}, \beta_{nx}, \gamma_{nx}$ such that*

$$(L_n f)(x) - f(x) = \left(\frac{x(1-x)}{n} - \frac{5n+3}{12n(n+1)^2} \right) \cdot [\alpha_{nx}, \beta_{nx}, \gamma_{nx}; f].$$

Another kind of representation theorem is the following asymptotic formula

Theorem 6. *Let us suppose that $f \in C(K)$, f'' exists at the point $x_0 \in K_1$. Then*

$$\lim_{n \rightarrow +\infty} n \{ (L_n f)(x_0) - f(x_0) \} = \frac{x_0(1-x_0)}{2} f''(x_0).$$

The proof is similar to the well-known result of E. Voronovskaja for the Bernstein operators [5]. Likewise it may be deduced from the general theorem obtained in [9] by R. G. Mamedov.

Other topics, as converse theorems, saturation theorems, may be investigated by means of the methods used by J. Karamata and M. Vuilleumier [3], De Vere [2]. For instance we note that the saturation class is

$$\text{Sat. kl. } [L_n] = \left\{ f \in C(K) \mid \|f - L_n f\|_1 = \mathcal{O}\left(\frac{1}{n}\right) \right\} = \text{Lip}^{(1)} 1(K)$$

where $\text{Lip}^{(1)} 1(K)$ is the subspace of $C(K)$ formed with those functions which have a derivative $f' \in \text{Lip } 1$ on K .

4. The convexity preservation.

As we have seen the operators $L_n, n \in \mathbf{N}_\varepsilon$, have the interesting property that

$$f \leq L_n f \quad \text{on } K_1$$

for $f \in C(K)$ non-concave on K . Another result is

Theorem 7. *The operators $L_n, n \in \mathbf{N}_\varepsilon$, preserve the shape of the function. More precisely, if $f \in C(K)$ is a non-concave function of the order $p+1$, then $L_n f, n \in \mathbf{N}_\varepsilon$, are nonconcave on K_1 of the same order, $p = -2, -1, 0, \dots$*

Proof. According to (4) the inequalities

$$\left[\frac{t+k}{n+1}, \frac{t+k+1}{n+1}, \dots, \frac{t+k+p+2}{n+1}; f \right] \geq 0$$

$$C_{k,p+2}(x) \geq 0$$

$$k=0,1,\dots,n-p-2; \quad x \in K_1, \quad t \in [0,1]$$

certifies the validity of inequality

$$\frac{d^{p+2}}{dx^{p+2}}(L_n f)(x) \geq 0 \quad \forall x \in K_1,$$

and the theorem is proved. \square

BIBLIOGRAFIE

[1] Агама, О., *Относительно свойств монотонности последовательности интерполяционных многочленов С. Н. Бернштейна и их применения к исследованию приближения функций*; *Mathematica (Cluj)* 2 (25), 1 (1960).

[2] De Vore R. A., *The Approximation of Continuous Functions by Positive Linear Operators*; *Lecture Notes in Mathematics*, № 293., Springer-Verlag 1972.

[3] Karamata, J. and Vuilleumier, M., *On the Degree of Approximation of Continuous Functions by Positive Linear Operators*; The University of Wisconsin, MRC # 521, 1964.

[4] Korovkin, P. P., *Linear Operators and Approximation*; Gordon and Breach, New York, 1960.

[5] Lorentz, G. G., *Bernstein Polynomials*; University of Toronto Press, Toronto 1953.

[6] Lupaş, A., *Some Properties of the Linear Positive Operators (III)*, to appear.

[7] Lupaş, A., *Die Folge der Betaoperatoren*; Dissertation, Stuttgart 1972.

[8] Lupaş, A. and Müller, M., *Approximation Properties of the M_n -operators*; *Aequationes Math.* 5 (1970) 19—37.

[9] Mamedov, R. G., *The Asymptotic Value of the Approximation of Differentiable Functions by Linear positive Operators*, (Russian), *Dokl. Akad. Nauk SSSR* 128 (1959) 471—474.

[10] Popoviciu, T., *Despre cea mai bună aproximație a funcțiilor continue prin polinoame*; Cluj, Ardealul 1937.

[11] Popoviciu, T., *Asupra demonstrației teoremei lui Weirstrass cu ajutorul polinoamelor de interpolare*; *Lucrările Sesiunii Generale științifice Acad. RPR.* (1950) 1964—1967.

[12] Popoviciu, T., *Sur le reste dans certaines formules linéaires; d'approximation de l'analyse*; *Mathematica (Cluj)* 1 (24) (1959) 95—143.

[13] Temple, W. B., *Stiltjes Integral Representation of Convex Functions*; *Duke Math. J.* 21 (1954) 527—531.

[14] Wegmüller, W., *Ausgleichung durch Bernstein-Polynome*; *Mitt. Verein. Schweiz. Versich.* — *Math.* 36. (1938) 15—59.

I. Lazarević
Univerzitet u Beogradu
Elektrotehn. fakultet
Ul. Bul. Revolucije, 73.
B E O G R A D
Yugoslavia

A. Lupaş
Institutul de calcul
Str. Republicii, 37.
C L U J
Roumania